1S. N NDUEFEE=E

x H B g2

FERRRIE & I
1 8/5 (—) 1E &= 5% 25 5l Ak
B =89 B K B

E 2 /N/\D. J
2| 8/6 (00 | il 3 b i 2E (] R

_ F =/ =5 85
3| 8/7 (=) | per g e A o 2

vl 8/8 (Pu)

5| 8/8 T | Dlelm it

=

o R PET G EGE) - 355 LM FEBEAEF o
Bl4a 2 8 & NAP AR EIF I 5 G RIS IR T B ~ g%
HMEIFEH - HREBHFIR OB EREAA - EHEIF/G A £
FA o
Zl&aéﬁb‘f??-f‘ii“—" z R ZFEHEAF G F LA 45| F] - :'r‘_‘—:Et-ii

G A A G HE Mg e R 5 F & — 1@ JEF
?«%"—ééi%l%‘:%%fi °
AR AL B e PR R 4 - A9 JE 3E 69 4E 13K, 6P JE — AR AEE FE -
F3F o ARIRAZHAFHSE P H B N AP L a) F KW R — HL
3R o AT BY-F B AFIE & LB ~ I ARARES ~ I F A4 ©

B¥RSE - 8/5 ~ 8/7 (3A— ~ @ =) E49 : 00 ~ th4-12 : 00
8/8 ~ 8/9 (3AEPY ~ AEA) EH48: 10 ~ th4g-12 : 50

ERb - 2O NHEBERRES - BElES ~ TRIES ~ IR
BE A1 H =3 A

ZEFH - 40005 (SEhEZEE ~- WrEHFE ~ =& ~ Bh/aO ~

ii%j‘cﬁ‘% FEFEEE)

A E - 30 A (FFH/ T ~ s~ =B~ 20 A B YD

HbEL - 8/5~8/7T/J\%¥E%$E BB — 12
8/8-8/9TE=m A BERES

et : 8/8-8/955 I/ F AL EE—IRESIEH

LI?KI‘ "‘.El



	�¶�±  17

